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𝐷0 efficiency in Isobar



if( p<1.6 && (!isTOFAvailable)) continue;    clean pid

if(isTOFAvailable) nsigtof_X

else nsig_X hybrid PID

𝜖𝑃𝐼𝐷_𝑐𝑙𝑒𝑎𝑛 = 𝜖𝑛𝜎𝑋 ∙ 𝜖𝑇𝑂𝐹 ∙ 𝜖∆1
𝛽

𝜖𝐷0
𝑟𝑒𝑐𝑜 = 𝜖𝐴𝑐𝑐𝑒𝑝𝑡 𝜖𝑇𝑟𝑎𝑐𝑘

𝜖𝑇𝑟𝑎𝑐𝑘 = 𝜖𝑇𝑃𝐶 𝜖𝑃𝐼𝐷

𝜖𝑃𝐼𝐷_ℎ𝑦𝑏𝑟𝑖𝑑 = 𝜖𝑛𝜎𝑋 ∙ 𝜖𝑇𝑂𝐹 ∙ 𝜖∆1
𝛽

+ 𝜖𝑛𝜎𝑋 ∙ (1 − 𝜖𝑇𝑂𝐹)

PID method
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TPC tracking efficiency
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TOF matching efficiency
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5

TOF cut efficiency



Need appropriate statistics 

TOF cut efficiency
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TPC cut efficiency
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1. Improve efficiency (cross check)

2. Average yield and System uncertainty

Raw yield extracted from gauss fit

𝑫𝟎 efficiency and spectra
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• 2.28 - 4.21 𝐷0 data spectra (𝑍𝑟 , 𝑅𝑢) 

• 4.22 - 5.22 𝐷0 𝑣2 (model)

Glauber model for Isobar initial eccentricity

simulation for 𝐷0 spectra and 𝑣2.
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𝑺𝒆𝒎𝒆𝒔𝒕𝒆𝒓 𝒑𝒍𝒂𝒏


